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1  Introduction

In RAN4 #64bis, the details of the requirement scenarios for receiver type verification for demodulation and CSI reporting was discussed. The agreed way forward are: 
· Introduce requirement scenarios for receiver type verification and CSI reporting (FDD/TDD) based on the framework in R4-124938

· Agree to introduce a relative throughput test (throughput with explicitly modeled interference over throughput with AWGN interference)

· Tentatively agree on an additional requirement on BLER. The decision can be revised during RAN4#65 if a serious issue is identified.

· Agree to use DIP=-0.41dB (INR=10dB)

· Test point(s):

· Target low SINR region, working assumption is [-2:1:1] dB range

· The number of test points is FFS, decision to be made during RAN4#65

· Target agreeing on test point(s) during RAN4#65

· Simulation assumptions for RAN4#65 to be drafted and approved in [1]
· Alignment results and proposals for test point(s) and requirement settings requested for RAN4#65

2 FDD simulation results
Simulation assumptions are provides in [1]. The throughput ratio over AWGN channel for different receiver types is shown in Fig. 1. The BLER is shown in Fig. 2. For the results, we observe that BLER does not vary much in SNR range [-2:1:1]. It seems just one SNR point showing  is good enough for the test. 
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Fig. 1. Throughput ratio for IRC/IRC receiver and MRC/IRC receiver 
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Fig 2: BLER for IRC/IRC receiver and MRC/IRC receiver  

Proposal 1: Test point SINR is 0dB. The required throughput ratio is 2. 

Proposal 2: BLER requirement is > 0.02. 
3 Conclusion

In this contribution, we simulate the advanced receiver performance with different receiver type. We propose that 

 Proposal 1: Test point SINR is 0dB. The required throughput ratio is 2.
Proposal 2: BLER requirement is > 0.02. 
4 References

[1] R4-125905, “Introduction of framework verifying the receiver type for advanced receiver”, ST-Ericsson, Ericsson, Renesas Mobile Europe Ltd, Intel Corporation 














































































3GPP


